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KEY AND MARKING SCALE

PLEASE ACCEPT ANY APPROPRIATE ANSWER NOT MENTIONED IN THIS KEY.
LLEASE ACCEPT ANY APPROPRIATE ANSWER NOT MENTIONED IN THIS KEY.
I. COMPREHENSION (15 POINTS)

Testees shouldn’t be penalised for spelling or erammar mistakes in the comprehension section. |

A. TRUE/FALSE: (3 pts, 1pt each: 0.5 pt for the right choice and 0.5 pt for the right justification. Consider the
Justification ONLY if the choice is correct)

I.F. ... lending them free to low-income families

2. F. To fund his scheme, he sought individuals willing to donate about $260...
3. F. ...the incubator can be picked up as soon as the baby is at home
B. WH-QUESTIONS: (3 pts; 1 pt each)
... premature birth complications.
...he fixed an incubator for a pediatrician..
...from a friend.

1.

2.

3.

C. SENTENCE COMPLETION: (3 pts; 1 pt each)
l.. ., (have to) put them in incubators.
2
3.
D.

— ==

. ...atext message...

..said that she could no longer stay in the hospital/said that she had to leave the hospital.
CHART FILLING: (2 pts; 1 pt each)

___Number | What it represents in the text _ -
| 180 The number of incubators Koestor has built so far
1500 The number of babies who have benefited from the incubators
| 2.4 Maryamah’s weight now .

E. WORD REFERENCE: (2 pts; 1 pt each)

1. Koestor 2. Maryamah
¥. WORD MEANING: (2 pts; 1 pt each)

1. fund. 2. response.

II. LANGUAGE (15 POINTS)

A. GAP FILLING: (2 pts; 1 each) l. starting 2. must
B. SENTENCE JOINING: (2 pts; 1 pt each)
I. Rachida left...in order to set up ... /In order to set up her own business, Rachida ......
2. Many families can’t afford to ...because of (their) poverty. /Because of (their) poverty, many

C. GAP FILLING: (2 pts; 1 pt each) l. turn down 2. take up
|
D. ERROR CORRECTION: (3 pts; 1pt each) h
7 (. 2. ...forced... 3. ... follow...
E. GAP FILLING: (2 pts; 1 each) l. community 2. tourist |
F. MATCHING: (2 pts; 0.5 each) - 2.¢ 3.a 4.d

G. RESPONDING TO SITUATIONS: (2 pts; 1 pt each) Accept any correct and appropriate answer .
| III. WRITING (10 POINTS)

The following criteria should be respected while scoring the writing tasks.

————

_ _Scoring criteria Task (4points) | Task2 (épnints) |
Relevance of content to the task 2 pts 3 pts

ropriateness and variety of vocabulary 1 pt i 2 pts
Grammar and mechanics _ 1 pt ] | 1 pt - | |




